Precalculus » E28H— =41k %L > Cheng-Fang Su

T—3 fod 258 v B & 230 v 2§ ot

1sin(a+ f)=sina cos f+cosasing ;
2.sin(a—p)=sinacos f —cosasing ;
3.cos(a+ p)=cosacosf —sinasing ;
4.cos(a—p)=cosacosf +sinasing ;

tana +tan S tan(a— B)= tana—tanf

Stan(a+ p)= _= = =
(a+h) 1-tanotan g l+tanatan g

1.sin28 =2sind cosd ;

2.c05268 =cos? @ —sin? @ =1—2sin?> @ =2co0s* 6 —1 ;
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3.tan2 = ———— -
1-tan“ @
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1.sinacos,B=% (sin(e+p)+sin(e —B))
2.cosasin,8=% (sin(e+p)-sin(ae —B)] ;
3.cosacos/}=% (cos(a+pB)+cos(a — ) )

4sinasin f=—

[cos(a +p)—cos(a — )]
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1.sinx + siny=2sin cos

2.sinx—siny=2cosu

3.C0sx + cosy =2c0s X; y

Cos

4.C0SX — COSy = —Zsin%sin%y o
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